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Question 1- The ratio of length and breadth of a rectangular
field 1s 5 : 4. If the breadth is 20 metre less than the length,

L - B the perimeter of the field.
’ T |- T TR HA shi TeTg S SIS o1 U 5: 4
g L 2 Ife <NSTS TS © 20 Wi Y &, al e a1 IRHATT?
I )
= Do @ A.180 m
i oumder= 3 !00+@0) B.200 m
L= x5
. C.160 m
= [0om
B - 3 D360 m
= OXY E. None of these
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Question 2- A certain sum amounts t after 3 years
and Rs.(1800()after 5 years at a certainratcof interest
compounded annually. What 1s the amount after 8 years in
rupees?

9 2- Tk fAf2rq Tfr 3 e o st 2000 T AN 5 9 < 1€ 18000

B9 TR ®Y | GITSId oIS <€ U J9dT 21 § I91 oF o1 &9 |

T T 27

_A Rs 486000

B. Rs 286000
C.Rs 386000
D.Rs 246000
E. None of these
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The given bar graph shows the total number of students(Boys+ Girls) in
different school P,Q,R,S, T and total number of girls(labelled as yellow)

T 1 S AT fofs = ®6e P, Q, R, S, T H BTN (TSehI + TTS(ohaAT) shl e
TEAT 3TR TSloRal i et ST (Fiet T o &9 H Tielet) sl G20l &
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30 Question 3- Find the average number of boys in school
P,Q,R,S and T.

@ /f): 190 I 3- [T P, Q, R, S 3R T H TSahi ahl 3T ed T&AT JTd
R= 220
unasp = (8O |
R= 60 ﬁ 5 “‘;% A. 142
S = B. 132
T == ’ O Chart Title 136

300 300

WW:: > R
Gringy

150
100

X

@ E. None of these
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Question 4- Total number of girls in school S and T is what

percent of total number of students in school P and Q.

67(577)’_ 500 T 4- Tt S SR T H AR shl et AT, foramet™ P 3T
ot (Pr8)= 500 Q H BT 3hI el HEAT AT fehaT T 82

%= £°0 yvige A.20%
Q0 3 B.30%
— L/OZ Chart Title 0%,

D.60%
E. None of these
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Question 5- If number of boys in school T and S increased
by 40% and 20% respectively. Then find ratio of total
number of students in school S and T.

T 5- < (T T 3T S H ISehi hi G&IT H SHAST: 40%
B%(TL>:(H0/‘;”6O A 20% hl 15 8% ol T ThA S N T H B shl el G

T ST 31 EaISel I

@yg(gﬁ\ 9 ‘qu B.91:41
t O/'g{ O Chart Title C.91:42

- lO& 4 @ D.34:53

m;le of these
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Question 6- If all students in all school went for picnic and form
three group in ra@}%en number of students in group third

is what percent less/more than total number of student in school
S and Q.

T 6- Ffe T Tohet H @l BT TUehi-eh o FTU ST & S 1: 1: 3%k
AU H I HE SH1d &l T FHE dTEL H B ohl §E&3T, Thal S 3N

Q H B! ol el HEAT § fehd TicieTd sha/Sfereh 22
Chart Title A.24.66%

B. 46.66%
“E-50.66%
120@ 140 p_ 37%

II I 60 E. None of these
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Question 7- Length of train P 1s half as that of train Q. Train P and Q

crosses the bridge of length 100 meter in 5 seconds and 6 seconds

respectively. If the ratio of speed of train P and (Y i1s 2 : 3)\Find the

length of train P.
T 7- 37 P ol alTs ¢ Q hl caiTs sht 31Tefl B ¢ P 3T Q ShAST: 5 Uehe
I 6 Hehe H 100 HIST sl I ol TR Ll &1 Al & P 3T Q o6 7Tt o1
AT 2 : 3 8, Al ¢ P ol AT Tl ehiforal

A.600 m
30 B.700 m

C. 1200 m
D400 m

E. None of these
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Question 8- Two 1nlet Pipes X and Y can fill the tank in 6 hours. Z 1s
the outlet Pipe. Together X, Y and Z can fill the tank 1n 8 hours. Find

in how many hours, Pipe Z can emptied the tank

B &aﬁ@wxaﬁtY@ﬁﬁm%ﬁmm%l Z AT U159
Bl X, Y 3R Z Ueh |1 Ihl ol 8 T | WX Tehd 2| JTd ehifetd o uTgy Z
et ol ford =12 § Wiedt o Tohdl @
\
XJr?’ 1 > 6 _\_Z: g/f" A.20 Hour
X D ]QH i B. 12 hour
7 £ : & Q%— C. 16 hour
LH‘Z; 3 P74 hour
(Q E. None of these
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Question 9-A sum ¥ 4900 providt simple interest at the rate of
interest y% 1n 3 years. If the new rate of interest y + 3%. Then what 1s
—

the new 1nterest for the same time? ANE 2.
T 9- Ueh T 4900 3 TSI H y% SATS ehl gL § GTERYT ST W1 ¥ 882 &

AT Tl Tl SATST hT 5 &Ly + 3% T O ST T oh Tl TIT ST T &2
ST oith X3y = j%j%@o

_ A.Rs 1339

C7. — MR i (30 B.Rs 2321
382 +44 4 _C-Rs 1323

= |313%. D.Rs 1109

E. None of these
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What will come in place of the question mark (?) in the following

question?
Question 10- 2/7 of 1008 =~ 24 + 52 = 77
1008 T 2/7 + 24 + 52 = 77

Pt et
9 A.6
) 6L 30 B.7
3’:& —C%
— D.9

E. None of these
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o What will come in place of the question mark (?) in the following
question? |0 1o 000 6\\00
Question 11- \/1_4_40_0 x V8100 - 502 =7+ (80)2

[0800 — 8960 = X

2= /700

N — A.1100
30 B. 1200
—€-1900
D. 1300
E. None of these
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What will come in place of the question mark (?) in the following
question? %6 To L\
Question 12- V1296 x 12 + V4900 - 212 = P

= Hmm

= Jo-9
LA 61
= 6/
— 30 B. 161
C.71
D. &1

E. None of these

Wt o gl e gt ) e g
st
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What will come 1n place of the question mark (?) in the following

question? /[ 96 +
Question 13- 20% of 450 + \/2197 64 =7

A = [03-6Yy
=S
— A.29
30 B. 39
C.19
D.99

E. None of these

https://t.me/mathbytarunsirmepl @



What will come in place of the question mark (?) in the following

question?

o
Question 14- 65% of 700 - ? =8 x W

45 5160 =
1= 295 A.200
= 30 B. 195
C.295
D.395

E. None of these
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What will come in place of the question mark (?) in the following

question?

éH( 50_1—5) Question 15- 64 X 55+ 24 x55+9 =7+ 120
N O
Bégg = §520—120 + <LH S5 i
35 I3
2230 . S
= Moot g3 e s
3 30 B. 3580
C. 3500
D.3520
\_B-None of these
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Question 16- Ratio between speed of boat in still water to
speed of stream 1s 8 : 1. If 67.5km 1s travelled
downstream 1n 2.5 hours then find the time taken to cover

630 km 1n upstream.

é - :g(ﬁ T 16- TEAT ST 1 919 <R i 37T & 1 i o S <Rl
2 A AT 8: 1 8] Al /T o A7kt 67.5 fopfi i gli 2.5 s o
0= % a3 <l ST 8, d T o Ticshed 630 fepefl <l gl a1 shed o
IRRIRIR IR RIS a'm%pm A.20H
7(; = 630 6{ B304
_ =i 3 \H
(&‘/)XB ;‘ .
= SQF’"’« E. None of these

M3 =
https://t.me/mathbytarunsirmepl @



E Question 17- Interest earned on an amount after 2years at
20%p.a compounded yearly 1s Rs.660. Find the interest earned
@ on same sum after 3 years at 15%p.a at Simple interest

T4 17- Teh UIRT 9K 2 I91 o §1& 20% TNk Ashdl4, ITNeh hi &L
LJ\H"/D: T 660 & 3ia A 660 TR 2| TR A T 15% i B T & 3

{o/o - TI5 NI oh dTe 3T TINT U ATSId o1 T shiTor|
A.Rs 600
0oes/ —
&/m /E/G gicse 30 B.Rs 445
; . 1—-{5’6 SO C.Rs 645
/h??/ﬁ MW 6/0ﬁ/ ¥ D.Rs 455
ol %é’_‘& _FENone of these
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